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SECTION I (50MARKS)

Answer all  questions in this section in the spaces provided.

1. Without using a calculator evaluate.



                        
      (3 marks)
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2. Solve for y in the equation.
[image: image4.png]gr+l — 23+l =48






                    (3 marks)

3. A Kenyan company received US dollars 100,000.The money was converted into Kenya shillings 
in a bank which buys and sells foreign currencies as shown below.

	
	Buying(Kshs)
	Selling(Ksh.)

	 1 US dollar
	77.24
	77.44

	1 Sterling pound
	121.93
	122.23



(a)
Calculate the amount of money in Ksh, the company incurred.

(2 marks)


(b)
The Company changed the Kenya shillings calculated above into sterling pounds to buy a 
car in Britain. Calculate the cost of the car to the nearest sterling pounds
(2marks)

4. Simplify the expression;

[image: image6.png]12x*+ax—6a*
9x2—4a?



   

                            (3 marks)

5. The figure below shows a triangular – based pyramid.  If the solid is made up of a material of density 1.25g/cm3, calculate the mass of the solid.                      


  (3 marks)
[image: image7.png]



6. A football match between Arsenal FC and Chelsea FC started at 1500hrs.  It lasted for the official 90 minutes with a half time break of 15 minutes.  The referee added five extra minutes for injuries and other stoppages.  Find the time the match ended.


     (3 marks)

7. Given that sin ( = 
[image: image8.wmf]5

1

where ( is an acute angle, find without using Mathematical tables or ‘a calculator’.

(a)
Cos ( in the form 
[image: image9.wmf]b
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(2 marks)

(b)
Tan (90 - ().









(1mark)

8. Find the smallest number which leaves a reminder of 4 when divided by either 8 or 12 or 14.












(2 marks)

9. In this question, use a pair of compasses and a ruler only.


a)Construct triangle ABC such that AB=4cm, BC=6cm and <ABC=1350.
(2 marks)


b)
Construct and measure the height of the triangle ABC taking BC as the base.












2marks)

10. Every week the number of absentees in a school was recorded. This was done for 39 weeks these observations were tabulated as shown below.

	Number of absentees
	0 -3
	4-7
	8 -11
	12 – 15
	16 – 19
	20 – 23

	(Number of weeks)
	6
	9
	8
	11
	3
	2



Estimate the median absentee rate per week in the school


       (3 marks)

11. Find the integral values of x which satisfy the inequalities;


3x-2< 10 + 10 + < 2 + 5x







(3 marks)

12. In the figure below, AC is an arc of a circle centre D. Angle ADC = 600, AD = DC = 7cm and CB = 5cm.

[image: image10.png],‘





Calculate


a)
The area of triangle ADB






(2marks)


b)
The area of the shaded region.





(2marks)

13. Town A is 80km due east of town B.  Town C is on a bearing of 2340 form town B.  If town C is 100km from town A, by scale drawing find the distance of town C from town B.   (3 marks)



14. Given that 
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(3 marks)

15. Use tables of reciprocal only to evaluate 
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       (3 marks)

16.  Three angles of a polygon are 125(, 140( and 160(.  The remaining angles are 145( each.  Calculate the sum of the interior angles of the polygon.
                                   (3 marks)

SECTION II (50MARKS)

Answer only five questions in this section in the spaces provided.

17. Ukwala Boys Secondary School.  Intends to buy a certain number of chairs for Ksh. 16,200.  The supplier agreed to offer a discount of Ksh. 60 per chair which will enable the school to get 3 chairs more.Taking y as the originally intended number of chairs:-

a) Write an expression in terms of y for 

i)
Original price per chair.




                 (1 mark)

ii)
Price per chair after discount.
             
                              (1mark)

b) Determine

i)
The number of chair the school originally intended to buy.              (4 marks)

ii)
Price per chair after discount.


                             (2 marks)

iii)
The amount of money the school would have saved per chair of it got the intended number of chairs at a discount of 15%.               
   (2 marks)

18.  (a) Find the equation of a straight line L1 that passes through the points P [image: image20.png](—6,—3)



 and Q [image: image22.png](1,3)



 in the form [image: image24.png]ay +bx =




 where a, b and c are constants.                     
   (2 marks)

(b) A second line L2 is parallel to L1 and passes through [image: image26.png](2,-3)



. Find the equation of L2 in the form [image: image28.png]y = mx +c



.                                                              


                  (2 marks)

(c) A third line L3 passes through [image: image30.png](2,3)



 and is perpendicular to L1. Find the equation of L3 in the form [image: image32.png]ay +bx =




.                                                                                                 (2 marks)

(d) Use matrix method to find the coordinates of R the point where L1 and L3 intersect.     


    
                                                                                                            (4 marks)

19. Bumala is a market centre 600km from Kisumu town.
A bus starts from Kisumu for Bumala at 7.00am at an average speed of 80 km/h.  At 8.30 am a car started from Kisumu to Bumala and moved at an average speed of 120 km/hr.


i)
The distance bus covered before the car started moving.                              (3 marks)


ii)
The relative speed for the two vehicles.



                (2 marks)


iii)
The time the car overtook the bus.




                 (1 mark)


iv)  Distance covered by the car before overtaking the bus.

                (2 marks)


v)   Distance from Bumala to the car at the time the car was overtaking the bus.    












 (2 marks)

20. A triangle has vertices A (1, 2), B (4, 4) and C (6, 2).


(a)
Draw triangle ABC on the grid provided.




(1mark)

(b)
Construct the image triangle A¹B¹C¹ image of triangle ABC under a rotation of 90º clockwise about the origin.







           
(2marks)


(c)Draw triangle A¹¹B¹¹C¹¹ the image of triangle A¹B¹C¹ under a reflection in line y = (, state the coordinates of A¹¹B¹¹C¹¹






               (3 marks)
(b) Draw triangle A¹¹¹B¹¹¹C¹¹¹ the image of triangle A¹¹B¹¹C¹¹ under a reflection in the line y = 0 and state the coordinates of its vertices.




(2marks)

(c) Describe a single transformation that maps triangle A¹¹B¹¹C¹¹ onto triangle ABC.












(2 marks)

21 a. Use the trapezium rule  with 5 strips to estimate the are enclosed by the curve, the x-axis and the lines x=-2 and x=3 of the curve [image: image33.png]







(4 marks)
a. Find the exact area bounded by the curve, the x-axis and the line x=-2 and x=3.  




                                                                                  (4 marks)

c)
Find the percentage error in your workings.

                            (2 marks)

22. In the figure below, AC = 12 cm, AD = 15 cm and B is a point on AC, [image: image35.png]£BAD = £ADB = 30°
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Calculate to 2 d.p.

a) The length of CD.                                                                 


    (3 marks)

b) The length of AB.                                                                             
  (3 marks)

c) The area of the triangle BCD.                                           

 
        (2 marks)

d) The size of [image: image38.png]£BDC



                         





   (2 marks)

23. (a) Given the matrix [image: image40.png]5 24
4 30



,find its inverse matrix Q


(2 marks)

(b)
Two friends Wasakania and Chalo, bought bulls at sh b per bull and goats at sh g per goat. Wasakania spent sh.96,000 in buying 5 bulls and 24 goats while Chalo spent sh 93,000 in buying 4 bulls and 30 goats

(i) Form a matrix equation to represent this equation

                    (1 mark)

(ii) Use the inverse matrix [image: image42.png]


 in (a) above to find the cost of one bull and that of one goat




                                                              (4 marks)

(a) Wasakania sold all his animals at a profit of 30% per bull and 40% per goat. Chalo sold his animals at a profit of 25% per bull and 50% per goat. Determine who made more profit and by how much.
   







  (3 marks)

24. A curve is represented by the function       [image: image43.png]



a. Find the y- intercept of the curve                                        


   (1 mark)

b. i) Determine the turning points of the curve                         

 (4 marks)

ii) For each point determine whether it is a maximum or minimum             (2 marks)

c. Sketch the curve of the function                                              

     (3 marks)
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